
un 2

z 2 z 6= 1

qX

k=p

zk =
zp � zq+1

1� z

nX

k=0

zk =
1� zn+1

1� z

(
Pn

k=0 uk)n�0

un
(
Pn

k=0 |uk|)n�0

limn!+1 un = 0

0  an  bn n

+1X

n=0

bn =)
+1X

n=0

an

0  an  bn n

+1X

n=0

an =)
+1X

n=0

bn

an ⇠+1 bn bn � 0 n � n0
P+1

n=0 an
P+1

n=0 bn

un � 0 n
p
un ! l l < 1 l > 1

l = 1



un > 0
un+1

un
! l l < 1 l > 1

l = 1

8X

k=3

1

5k
= · · · ;

+1X

k=0

1

5k
= · · ·

P+1
k=0

zk

5k

+1X

k=1

k2

2k

k
k2

2k
 1

(1.5)k
· · ·

+1X

k=1

k2

2k
zk

+1X

k=1

1

k
+1X

k=1

(�1)k

k
+1X

k=1

zk

k

+1X

k=1

1

k2

1

k2
 1

k(k � 1)
=

1

k � 1
� 1

k
.


